330i E91 manual

335d E92 auto

—4&— 1st gear torque =—ll=2nd gear torque —&—3rd gear torque =>¢=4th gear torque

== 5th gear torque —®-6th gear torque

Crank torque  ====Power BHP

—4&— 1st gear torque —ll=2nd gear torque =& 3rd gear torque =>¢=4th gear torque

«¥=5th gear torque —@®-6th gear torque = Crank torque

—===Power BHP

5000 300 5000 300
4500 4500 JM——‘\A
L 250 X\ - 250
4000 4000 / \
3500 3500
= o 200 =
5 3 s / 3
< 3000 £ < 3000 £
3 o g o
g 2500 I & 2500 - 150 X
2 £ e / £
T 2000 g 3 2000 g
< g < g
3 = E - 100 &
1500 1500 -
1000 X i T
1000 AT W [ %
500 500 =)
0 ‘ ‘ ‘ ‘ 0 0 ‘ : ‘ ‘ ‘ 0
1000 2000 4000 5000 6000 7000 1000 2000 3000 4000 5000 6000 7000
Engine RPM Engine RPM

Top speed in gears

6500rpm

AU WN

35
61
92
125
154
181

(assume 18" 255/35 = 2m outer circumference)
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